Probability & Statistics – I 

Course No. 45-733

Homework No. 1

Solutions

Pp 27-9

3a. 
Mean, 
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3b. 
Median = [3.5 + 3.6] / 2 = 3.55

11a. 
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11b. 
1st Quartile = 3.1 + (3/4)(3.4 – 3.1) = 3.325


3rd Quartile = 3.7


inter-quartile range = 3.7 – 3.325 = 0.375

17.
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19a.
From Tchebychev’s Rule: 1 – (1/m2) = 0.84, m = 2.5


The range for 84% is 9.2 
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(2.5)(3.5), [0.45, 17.95]

19b.
Rule of Thumb for 68% is 9.2 
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(3.5), [5.7, 12.7]

Pp 89-91

1a.
P(A) 
= P(5days U 6days U 7days)



= P(5days) + P(6days) + P(7days)



= 0.41 + 0.20 + 0.07 = 0.68

1b.
P(B) 
= P(3days U 4days U 5days)



= P(3days) + P(4days) + P(5days)



= 0.08 + 0.24 + 0.41 = 0.73

1c.

[image: image6.wmf]A


= [3days, 4days]

1d.
P(
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) 
= P(3days 
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4days)



= P(3days) + P(4days)



= 0.08 + 0.24 = 0.32

1e.
A
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B
= [5days]

1f.
P(A
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B) = P(5days) = 0.41

1g.
A
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B
= [3days, 4days, 5days, 6days, 7days]

1h. 
P(A
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B) = 0.68 + 0.73 – 0.41 = 1.0

1i.
No, because P(A
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B) 
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1j.
Yes, because P(A
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B) = 1

3a.
P(A)
= 4/8 = 0.5

3b.
P(B)
= 2/8 = 0.25

3c.
P(A
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B) = P(B) = 0.25

3d.
P(A
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B) = P(A) = 0.5

Pp 106-8

7.
SP – Superior Program Plan


IM – Intense Media Ad Campaign


P(SP 
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 IM) = P(SP) P(IM) = (1/3)(1/3) = 1/9

19.
A – Ask for Help


P – Make Purchase


P(A
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P) = P(A) + P(P) – P(A
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P) = 0.3 + 0.2 – 0.15 = 0.35

Pp 117-127

39
M – Married, S – Single

39a.
P(M)
= 0.64 + 0.13 = 0.77

39b.
P(left)
= 0.13 + 0.06 = 0.19

39c.
P(left | S) = P(left
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S) / P(S) = 0.06/0.23 = 0.2609

39d.
P(M | stayed) = P(M
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stayed) / P(stayed) = 0.64/0.81 = 0.7901

47.
P(E) = 0.7, P(B) = 0.3, P(SE | E) = 0.6, P(SE | B) = 0.25


P(SE
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E) = P(SE | E) P(E) = 0.25


P(SE
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B) = P(SE | B) P(B) = 0.075

47a.
P(E | SE) = P(SE
[image: image25.wmf]I

E)/P(SE) = 0.42/0.495 = 0.8485


P(3E | SE) = [P(E | SE]3 = (0.8485)3 = 0.6108

47b.
P(at least 1E | SE) = 1 – P(no E | SE) = 1 – [P(B | SE)]3 

        = 1 – [0.075/0.495]3 = 0.9965
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